750WE RS o o
JGS15 =k P nEnE ) SEED

LEEHRSE  HERRERRTER

The picture is just for the reference. Please check the the actual dimensions on the drawing.
= — e o -
=7 BN 1200mm 2000mm/s SSeA 750W et o 20mm
Maximum Stroke Maxlmum Speed Motor Output Ball Screw

RISER/RA TR, Ordering Method

JGS15-L5- 100 - BC - T750W - C 4 - MB-3M

PN ik RIRER 1712
Model Ball Screw Lead Stroke
05  5mm 50-1200mm
10 | 10mm BORSFE 50 mm Pitch
W 20mm
40 | 40mm

HiEME l?é?l‘%% RERFEHE L%%%‘% ‘J? BhIRAERR “’H‘EEHTBEMJ@%E E%Eﬁiﬁﬁ

Motor Position Motor \'nsio\lohon Motor Output Home Sensor Limit Sensor Motor Brand
BC HEIE T BRADARERE 100w - SMEEL Out Side SMEEL Out Side MB-3M BB, [ KRIE=FHR
Motor Exposed e T N $%m’ HRIK
— SET =25 Mitsubishi 200W - © %gﬁ“ 3/ 1R 1rc e EAL BRSO RES
BM ’/’\;\oror Bottom Side Jﬁg Delta 400W - ,\éo%;g‘{;ue 4 ZR 2Pc ZMB %%#U $’%$ﬂn ===
gL ELH 2| Yaskawa 750W | 750W D | Spposite Motor Side #% SENSOR No Sensor reEN SRR RS
Motor Left Side . KMB I~ =
o EEAR SC )N Inovance & SENSOR No Sensor 5 #% SENSOR No Sensor MEBM, T RELER
BR | Rotor Right side e E & SENSOR HERAERBFET.
e No Sensor #If No Brake,NoB Description.
P RTDAREITE SHORIB(TIZ5085, 7 LU FIRE):

When the stroke is 50mm, the sensor
installation has he folowing restrictions

1. RESEAER BB R R Rl
Home sensor and mif sensor has fo be
installed on the different side of body.




EHAR{t#% Specification R ISR E <R 2L Npim 2> Sensor Layout

[ . lontindicatorfrec *

(IBEEIEE Repeatabiiity (mm) +0.01 ' //zg%ﬁ\égm — dﬂ\z:
(G
I2AFEFE Ball Screw Lead (mm) 5 10 20 40 O O +DC
s ety o TO
B EE Maximum Speed (mm/s) 250 500 1000 | 2000 : o 100mABF
EATIRES INIE{eEFR Horizontal (kg) 120 120 83 43 I I
RSlGale yleiele) FEBE{F Vertical (kg) 50 40 25 12
TEFZHES] Rated Thrust (N) 2563 1281 640 320
FEAEITEE stroke Pitch (mm) 50-1200mm/50f&PE 50 mm Pitch
ACERESZEZS S AC Servo Motor Output (W) 750
RIRIRIRSE Ball Screw @ (mm) C74 20
5EEH28 Coupling (mm) 12X19
[REBLRAERS B8z EE-SX674(NPN)
Home Sensor Outside FC-SPX307Z-2M(NPN)
HTIRBAY0E  BEEIVSRE LB EEER o i SN0, 210 -

When the stroke is over 900mm, the run-out of the ballscrew will occur. Acceleration and deacceleration value is set 0.2 second.
We recommend to low down the working speed under this circumstances.

A[ir&#H HEER Allowable Overhang

o
B# iR

>

(B Unit:mm) (B Unit:mm) (B Unit:mm) (BfiL Unit:N.m)
Hoﬁkilﬁlrﬁﬁaﬁon A B C We;% In%t%:llﬁon A B C Venﬁﬁnﬁﬁ!ion A C My 909
@ | 70kg |1800| 329 | 380 i | 70kg | 226 | 223 [1920 = | 20kg | 1168 | 1168 MP 909
is | 90kg [1637)233 | 302 ff | 90kg | 251|253 1707 ¥ | 30kg | 811 | 811 MR 1752
Lead| 120kg|1120| 140 | 210  lLead| 120kg| 180 | 160 [1210 Lead| 50kg 510 510 FNmETE R, REED,
i | 65kg [1611]318 | 353 | 65kg | 286|338 [1760 g | 15kg | 1311 | 1311 Thelgaue vane e chartindeate e conterof gaviy.
j% 85kg | 1180|232 | 236 1*% 85kg | 198 | 252 [1330 j% 25kg | 750 | 750 Operatin f s 10,000k when tne productisusing under
Lead| 120kg| 680 | 154 | 162  lead| 120kg| 136 | 174 | 750 lead| 40kg 507 507 *E|B BRI EERIING, IERREANRTLE.
15 | 35kg [1150)392 | 518 5 | 35kg | 410 | 422 [1260 5 | 10kg | 1602 | 1602 Comaci'icfor he detais i you wani 1o abiy ceilng-mount
;% 55kg | 713 | 235 | 308 ;% 55kg | 250 | 265 | 803 ;% 14kg | 987 | 987 nverse usage.

Lead| 83kg | 470 | 190 | 204  lead| 83kg | 162 | 210 | 520  Llead| 25kg 620 620

m | 15kg | 760 | 680 | 538w | 15kg | 450 [ 721|810 = | 7kg | 1100 | 1100
j% 22kg | 500 | 396 | 320 Z‘% 22kg | 266 | 421 | 530 Z‘% 12kg | 620 | 620

lead| 43kg | 260 | 231 | 210  lead| 43kg | 172 | 251 | 280  Lead

EfigEIREEE—E3R Suitable Motor Brand

BT ; ERERE EIREGER R ERSf23RLEE
Mark AC-Voltage Motor Model Driver Model
_ A (KFALR) 750 220 HG-KN73J-S100 MR—JE-70A
== M No Brake (Horizontal Type)
Mitsubishi
B BRE(BAEME) 750 220 HG-KN73BJ-S100 MR-JE-70A
With Brake (Vertical Type)
A (KFHER)
- i | TRRBOCRTR) 750 220 MHMF082L1U2M MCDLN35SE
. .
e BREEELH) 750 220 MHMF082L1V2M MCDLN35SE
With Brake (Vertical Type)
RAEE (KAL) _ _ _B3— _
- ] o ORI 750 220 ECM-B3M-C20807RS1 ASD-B3-0721-L
Delt:
o ARE(EELE) 750 220 ECM-B3M-C20807SS1 ASD-B3-0721-L
With Brake (Vertical Type)




BiE A R

Built-in Guideway

RAFHE )

Ball Screw Drive

JGS15 E#H/1-axis

> >

HBIEINEIBETH

Motor Exposed / Motor Bottom Side

B I Unit: mm\

. ] 1
G 9 BSEJPMEE Motor Exposed ZDj 3D]
CAD CAD
L
BERN220.5 G
maERz03 e s |
BEHURIRIR92.25:1 2355 R 0,201
Mechanical limit 92.55%1 30 | Mechanical limit9.25%1
80
BRI () OO
i, [
s b (] [ ] e
8-M8x1.25¥20 7 PN 2.08H7V15
167
152
132
G 1
u L %D—ﬂ .
e o 3
HEE
The Datum Plane
XATR1008F , B4
B8 LB EAL SR
gggglggggg 140 M*150 A 68 150
4 &
d 10,
EEABRERTHK | e Fa [ 08.8THR
B 7L o 2 +
When the stroke is100mm, & EE N-M10*1.5V 20+ 8.8THR
if fixing the body from 4 _ & — 93
the top to the bottom, the 3 | D view Eig D— 22 m Al EI
ixing hole will be blocked %, — M10720 5!‘
by slider and only can be °
uses 4 screws to ix;as a —T \2.08 H7;12 — 5+0.03 75
result, suggest that ixing #
actuator body from the 140 150£0.02 %ﬁgum Plane
bottom to the top. B-B View
BRITE
Stroke 100 150 200 250 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 458 | 508 | 558 | 608 | 658 | 708 | 758 | 808 | 858 | 908 | 958 | 1008|1058 | 1108 | 1158|1208 | 1258 | 1308 | 1358 | 1408 | 1458 | 1508 | 1558
A 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 100 | 150 50 100 | 150
M 1 1 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8
N 6 6 8 8 8 10 10 10 12 12 12 14 14 14 16 | 16 16 18 18 18 20 20 20
\ KG 10.02[10.79|11.57 | 12.34| 13.11| 13.88/ 14.65|15.42| 16.19| 16.96| 17.73| 18.50|19.28 | 20.05| 20.82|21.59 |22.36|23.13 | 23.90 |24.67 | 25.44 |26.21|26.98 /
/ ¥ " BB Unit : mm\
N ) i
e b B T Motor Bottom Side ZDj tsbj
CAD CAD
BamR 100 "
rigin of actuator:190.5 Siroke 1375 | mes "
BAARRS2 255 s fitidsdinieyereil
Mechanical limit62.25+ 1
1 80
(=3 ) L) L )
;=2 x| oL o
167 8-M8x1.25%20 / 2-@8 H7V15
152
[ =il
9 |
0
S
XATRR1008F , BA&
B EHAEEA SR
SBEEAE | EeeER 110 M*150 A 68
4g Eﬁ%ﬁ % Tgﬁ?ﬁ N-M10X1.57 20+@8.8THR B
= i — @8.8THR
17 784 10 2 &2
When the stroke is100mm,
if fixing the body from o 1 _ - b 83| ?I
the top to the bottom, the B ~{- “‘
ixing hole will be blocked 3 M10%20
by slider and only can be 2° D View ey & = T_, 75+0.03 75
uses 4 screws to ix;as a < PBHTV12 B
result, suggest that ixing HEwE
actuator body from the 260 The Datum Plane
bottom to the top. B-B View
BRIT
Stroke 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 428 | 478 | 528 | 578 | 628 | 678 | 728 | 778 | 828 | 878 | 928 | 978 |1028 | 1078 | 1128|1178 | 1228 | 1278 | 1328 | 1378 | 1428 | 1478 | 1528
A 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 100 | 150 50 | 100 | 150
M 1 1 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8
N 6 6 8 8 8 10 10 10 12 12 12 14 | 14 14 16 | 16 16 18 18 18 20 20 | 20
KG  110.30| 11.07|11.84 [12.61]13.38|14.15]14.92|15.69 [ 16.47| 17.24| 18.01]18.78[19.55 | 20.32| 21.09|21.86 |22.63 |23.40 | 24.18 |24.95 | 25.72 |26.49|27.26




BELITIBERR
Motor Left Side / Motor Right Side
[

; ’EEE}E Motor Left Side Eg:lj w

BB Unit: mm\

CAD
L
LT g P
BOERINS AR 1375
236.5 BENIARIR9.25%1
BEmRIR62 2541 : Mechanical limit9.25%1
Mechanical limit 62.25:1
BRI = H e
B semmes e
2-@8 H7V15
8-M8x1.25V20

B |

X7771008 B .
®EENEEA SR 110 M*150 A__ 68
R , EEE 150

4 RBHEE | 2 1 = g

ﬁgﬁé%ﬁﬂ:?ﬁﬁ 2-@8 H7V 12 5 28.8THR
& Vo f——

When the stroke is100mm, Z 57

if fixing the body from o
the top to the bottom, the /r ~ T“I
mi0v20 | &

ixing hole will be blocked
75+0.03 75

0

D View =

-

50 +0015712
136
150

by slider and only can be
uses 4 screws to ix;as a - == i
result, suggest that ixing B A

actuator body from the N-M10*1.5¥ 20+@8.8THR %ﬁ)ﬁum Plane

bottom to the top 110 | 150+0.02 B-B View

ﬁs%g;.r: 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 428 | 478 | 528 | 578 | 628 | 678 | 728 | 778 | 828 | 878 | 928 | 978 |1028 | 1078 | 1128|1178 | 1228 | 1278 | 1328 | 1378 | 1428 | 1478 | 1528
A 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 50 | 100 | 150
M 1 1 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8
N 6 6 8 8 8 10 10 | 10 12 12 12 | 14 | 14 14 16 | 16 16 18 18 18 20 20 | 20

\ KG  [10.30]11.07|11.84 | 12.61|13.38| 14.15] 14.92|15.69 | 16.47| 17.24| 18.01|18.78 |19.55 | 20.32 | 21.09|21.86 |22.63 |23.40| 24.18 |24.95 | 25.72 |26.49|27.26 j

/t D BSIZEAIT Motor Right Side Ecsztj Eg:j (i Unit:mm\

L
. BAEM190.5 BRUTE
SBAARPR62.25+1 [Oron of aciuaior 150‘5 Stroke 137.5

Mechanical limit 62.25+1

AR 2541

_ [Mechanical limit9 251

XAT121008 , B e Pane
BLEREELEE o 150 A o

BERLE , EEEER N-M10"1 53 20+@8.8THR 150
4 ZRHETE  B2E J_W - 28.8THR
EEAMEEATHN 10 + —— id + :
2 A 8 o
When the stroke is100mm [n)
if fixing the body from il EI
the top to the bottom, the M1020

D View ﬁ s 75£0.03 75
uses 4 screws to ixas a .
result, suggest that ixing 2-08HTV12 p-3i )
actuator body from the = The Datum Plane

ixing hole will be blocked
bottom to the top. 110 | 150%0.02 B-B View

0

by slider and only can be

8.0 40015712

ﬁs’fﬁrl;;gi 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 428 | 478 | 528 | 578 | 628 | 678 | 728 | 778 | 828 | 878 | 928 | 978 |1028 | 1078 | 1128|1178 | 1228 | 1278 | 1328 | 1378 | 1428 | 1478 | 1528
A 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 | 50 | 100 | 150 50 | 100 | 150
M 1 1 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8
N 6 6 8 8 8 10 10 | 10 12 12 12 | 14 | 14 14 16 | 16 16 18 18 18 20 20 | 20
K KG  110.30| 11.07]11.84 | 12.61]13.38| 14.15[14.92|15.69 | 16.47| 17.24| 18.01/18.7819.55 | 20.32 | 21.09|21.86 | 22.63 | 23.40 | 24.18 |24.95 | 25.72 |26.49|27.26 J




